

Community Architect Network Cambodia

Linking with:

- The national Community Development Foundation (CDF)
- Community Saving Networks of Cambodia (CSNC)
- Asian Coalition for Housing Rights (ACHR)

Why Community Architect?

- Rehabilitation community security to poor people
- Learning from Commnity
- Housing design with community
- Assist community on small scale infrastructure improvement in city
- Linking between community with University

Cambodia map



When and How

- 1996 Started to learn with community
 - 1. Settlement survey
 - 2. community mapping
- 1997 Start with community on housing design by demonstrated
- 1999 Real practice on housing construction in Akpivat Meanchey community
- 2001 Started on the small scale improvement in city that managed by people.

Scaling Up to Nation Wide ACCORDING TO 8 STRATEGIES

- Settlement Survey
- Housing design
- Low cost Materials
- Housing Finance
- Housing Environment
- Housing healthy

What Activities

YP training on how to work with community



Field visit community









Outside country

Settlement Survey









Housing design



Community along the river

K.Cham



Prey Veng

Housing design







Meeting with community

Housing design







Housing design









Housing design



Meeting with government provincial

Housing design







Housing design







Low cost materials – Cement Block









Soil Block





Housing Finance

N°	ម្រូវនានសំនារ:	មរិទារពរា		តំលៃសំគារ:		rd on
		bසසා (ඉාස)	សុទ្ធ	ពយ	សរុប	នៅវូទៗ
1	ស៊ីម៉ង់	បារំ	234.22	\$ 5.00	\$ 1171.08	
2	ខ្សាច់ម៉ត់	m³	25.76	\$ 10.00	\$ 257.64	
3	ថ្មី 1x2	m³	22.56	\$ 18.00	\$ 406.08	
4	₫ 4x6	m³	2.40	\$ 16.00	\$ 38.40	
5	ដែក	Kg	2632.00	\$ 0.64	\$ 1684.48	
6	ឥដ្ឋប្រហោង	ដុ	10398.60	\$ 0.03	\$ 270.36	
7	ឥដ្ឋតាន់	ដុំ	207.97	\$ 0.03	\$ 5.41	
8	ទ្វារដែក 0.8 x 2.2m	set	8.00	\$ 35.00	\$ 280.00	
9	ទ្វារដែក 0.6 x 2.2m	set	4.00	\$ 28.00	\$ 112.00	
10	ថ្វាវជីវ 0.6 x 2.2m	set	4.00	\$ 22.00	\$ 88.00	
11	បង្អួចកញ្ជាក់ 1 x 1.2m	set	12.00	\$ 30.00	\$ 360.00	
12	គ្រឿងបង្គុំដំបូល ស័ង្កសី	m²	146.32	\$ 19.00	\$ 2780.15	
				សរុប ៤ល្វែង	\$ 7453.60	
				សរុប ១ល្វែង	\$ 1863.40	

Housing Environment



Plant tree

Vegetable garden

Community architect meeting every month





Share lesson learn among another group

Community architect working group



RUFA , Norton ,Cambodia Mekong University
And YP from UPDF

Presentation on lesson learn after one year in community







Presentation to university and student



Comment and suggestion









Real practice with Community builder at training center for community builder

Lecturers of 3 university gave comment



On master plan community builder training center



3D Master Plan of community builder of training center



Thanks You

